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Primordial black holes as a potential candidate
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How to observe the signals from PBHs?
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How to construct redshift-distance relation?



How to construct redshift-distance relation?

A statistical study on PBH binaries may help
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B. P. Abbott et al. Observation of Gravitational Waves from a 
Binary Black Hole Merger. Phys. Rev. Lett., 116(6):061102, 2016.
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How about 𝑝(𝑧)?
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However, we don’t know the PBH mass function currently.



However, we don’t know the PBH mass function currently.

Another observable related with PBH mass function

Merger rate of PBH binaries
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Thank you!
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